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INSTRUCTIONS TO THE CANDIDATES

1. Immediately after the commencement of the examination, you should check that this Question Booklet
does not have any unprinted or torn'or missing pages or items etc. If so, immediately contact the invigilator
and get it replaced with Question Booklet.

2. This combined Question Booklet is divided in two Sections. Section — ‘A’ and Section — B’.

3. Section — ‘A’ contains 50 Questions of General Studies. All Questions are in Hindi and English Language.
All questions are compulsory.

4. Section- ‘B’ contains 100 Questions of Concerned Subject. All'questions are in Hindi and English Language.
All questions are compulsory. Candidates should ensure that he/she got the question paper of the same
post for which he/she had applied.

5. All questions carry equal marks. Three marks for each correct answer. There is provision of Negative
Markings. For each wrong answer, one mark will be deducted.

6. Read carefully the instructions given on the Answer Sheet, (OMR) supplied and indicate your answers
accordingly.

7. Kindly make necessary entries on the Answer Sheet (OMR) at the places indicated and nowhere else.

8. Examinee should do all rough work on the space meant for;rough work on pages given at the end of the
Question Booklet and nowhere else, not even on the Answer Sheet (OMR).

9. If there is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi
and English versions of the question, the Hindi version will be treated as standard.
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1.

we - A

(U= IERN)
R daw Y w2020 5 R I F 7. URL e dfira wu § 7
@ﬁ%&ﬁm ? (A) Fher fad Tkt
g}f ?W:"’T (B) I &0 ke
Q) T (C) Frwem et eishet
(D) T (D) SR § F &iE T&
T R A 2020 B R e e ¥ 8. A6 ATES A (WWW) 1 e T o
Torg o T TeheT AT T W 26.3% w7
A TG 50% HET R ? (A) 1989 (B) 1991
(A) 2025 (B) 2030 ) 1993 D) 1995
(C) 2032 (D) 2035
NATRIP UREISHT % qgd HEIIeY o HeMAqX 9. GIs T W w7 2 7
i faela T e AT whe 3% Re (A) SRR T STTed!
e W THE IR R 7 (B) TFTel FET SO
(A) O ST HETe

(B) TSH UiEe TR TSHE! W
(C) = T IR HATT

(D) Y&t gREs WA
4. @e e gfEiid T @ wwar g
el I o' ?
(A) YRR
(B) T=E
(C) 3igHEETg
(D) ST
5. oAl TR ] YR T 31678 " 9T
B3 AT 7
(A) 2000 (B) 2001
(C) 2002 (D) 2003
6. HF-T 3-TE-H U5 HEYeT 1 g ?
(4) S (B) TG
(C) Imm (D) ¥
HME/2021-A

10.

11.

12.

(C) ST g1 SumTed]
(D) witiferss FEAT oTGHt

T HH-T1 5-H0E B 7

(A) B2B

(B) B2C

(C) ¥=1-B

(D) IwE

form SEm & IaTe # fava @ mery w1
T R TR W R ?

(A) TS (B) HiHe

(C) =t (D) Tl < s
T SFRNid /.9, &% Sia-8 e 3 Femm
HA R ?

(a) fogaret (B) weel

(C) wEe™ (D) Safar
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1.

SECTION - A
(General Studies)

Oxford language chose which one as
the Hindi word of the year 2020 ?
(A) Sankraman

(B) Aatmanirbharata

(C) Mahamari

(D) Yoga

. National Education Policy 2020 aims

in the higher education to raise the
gross enrolment ratio from 26.3% to
50% by which year ?

(A) 2025 (B) 2030

(C) 2032 (D) 2035

. National Automotive Test tracks developed

at Madhya Pradesh’s pithampur under
NATRIP project is the flagship project of
which ministry ?

(A) Ministry of Heavy Industries

(B) Ministry of Road transport and
Highways

Ministry of Commerce and
Industry

Ministry of surface transport

(C)
(D)

Where did the first edition of Khelo
India University games took place ?
{A} Bhubaneshwar

(B) Mumbai

(C) Ahmedabad

(D) Bengaluru

When did Lata Mangeshkar get the

Bharat Ratna Award ?
(A} 2000 (B) 2001
(C) 2002 (D) 2003

Which e-governance initiative
belongs to Madhya Pradesh ?

(A) Prerna (B) Samwad
(C) ASHA (D} GYANDOOT
HME/2021-A

7. URL stands for

10.

11.

12.

(C) Shahdol

(A) Uniform Resource Locator
(B) Uniform Random Locator
(C) Uniform Reasonable Locator
(D) None of the above

. World Wide Web (WWW) started in

which year ?
(A) 1989
(C) 1993

(B) 1991
(D) 1995

. GIS stands for

{A) Government Information System
(B) Google Information System

(C) Geological Information System

(D) Geographic Information System

Which of these is e-commerce ?
(A) B2B
(B) B2C

(C) Intra-B
(D) All of the above

Madhya Pradesh ranks second in
the world in the production of which
industry ?
(A) Paper
(C) Sugar mill

(B) Cement
(D) Clay pots

In which district of Madhya Pradesh
does Bharia tribe live ?

(A) Chhindwara (B) Mandla

(D) Umaria

[ P.T.O.
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13, USNW F HH-§ e s uieed
1, Ugd g, faft wa wn = | 2
(A) 9. T I I
(B) gRem1 i T
(C) T 5ig B
(D) et T hIes],

14. WEASCH T UMW UETEdl T TS el g3l ?
(&) 1957 (B) 1962
(C) 1965 (D) 1978

15, TH O S Geu T g |2 ?
1. g &% a4 =afed ged B |
1. e S Ade g § AW gH W e
il
1. 9 # U 9K 986 AER grft |
IV. O G ) de& Tt fogis afgend

Huill

A) I, IV

(B) 1II, INI

(C) III, IV

(D) II, 1L, IV
16. T % S T A A 2 7

(A) PRAM (B) PROM

(C) RAM (D) ROM
17. HF-a1 AR Rren 7§ R 2

(A) Windows (B) Linux

(C) Mosaic (D) Ubuntu
18. = ¥ 9 % Uaifeeg wr S war B ?

(A) g

(B) Qiftean

(C) (A)wT (B) THl
(D) (A) TN (B) Q1 &t T

HME/2021-A

20.

21.

22.

23.

24.

25.

. T # 3 FR Fhm gfem A) F I § ?

(A) mefe s

(B) et wies TERT
(C) (A) a1 (B) QI

(D) (A) Qe (B) QT &t &

TR ! $-TTH YETI 1 AR 2
(A) NIC (B) NASSCOM
(C) CslI (D) NSSO

Fora v =51 AR AT ‘ST e @

(A) Taem™ (B) WEHR

() fafem (D) 3=

HERIST S391a <61 TSiar! o

(A) ®FR (B) ®aL

(C) fafemn (D) W=

Tl ST & G HHEI’ SHTER U3
& e 9

(8) d. ooy s gt

(B) Felcld HeH

(C) . UREA W =qagt
(D) g Td 9y

TR St 7.9, %6 fora T o ug il g
(A) STATETE (B) AU

(c) Fmieh (D) @S/

YT ISR Yo g 0. F TFHE @
e T wogg oft

() TRE (B) WYH

(C) TeTee (D) S
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13.

14.

15.

16.

17.

18.

Which Chief Minister of Madhya
Pradesh first became the Home, Law
and Defense Minister in the Union
Cabinet ?

(A) Pt. Ravi Shankar Shukla

(B) Dwarka Nath Mishra

(C) Prakash Chandra Sethi

(D) Kailash Nath Katju

When was the Gram Panchayats

formed in Madhya Pradesh ?
(A) 1957 (B) 1962°
(C) 1965 (D) 1978

Which is correct about the Gram
Sabha ?
I. All the people of the village will be
members.

_II. Whose names appear in the.

voter list of the village will be
the members.

It will be mandatory to sit once
in a month.

One third of the Gram Sabha
members will be women.

I, IV

I, 111

III, IV

10, 111, IV

II1.
1v.

(A)
(B)
(C)
(D)

Which of the following is NOT a
computer memory ?

(A) PRAM (B) PROM

(C) RAM (D) ROM

Which is NOT an operating system ?
(A) Windows (B) Linux

(C) Mosaic (D) Ubuntu
Which of the following uses Robotics ?
(A} Drone

(B} Sophia

(C) Both (A) and (B)
(D) Neither (A) nor (B)

HME/2021-A

19.

20.

21.

22.

23.

24.

25.

Which of the following is subsystem
of Artificial Intelligence (AI) ?

(A) Machine learning

(B) Natural language processing
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Network backbone of e-governance
support to government is

(A) NIC (B) NASSCOM
(C) CSI (D) NSSO

Which city was known as Dashpur’
in ancient times ?
(A) Ratlam
(C) Vidisha

(B) Mandsour
(D) Ujjain

The Capital of Maharaja Chhatrasal
was

(A) Sagar
(C) Vidisha

(B) Chhatarpur
(D} Panna

The Editor of “Karmvir” Newspaper at
the time of freedom movement was
(A) Pt. Vishnu Prasad Shukla

(B) Kuldeep Sahay

(C) Pt. Makhan Lal Chaturvedi

(D) Madhav Rao Sapre

In which district of M.P. ‘Kanwar’
tribes are found ?
(A) Balaghat
(C) Singrouli

(B) Mandala
(D) Shahdol

Atwhich place of M.P. Peshwa Bajirao—1I
died on the bank of river Narmada ?
(A) Raver Khedi (B} Maheshwar
(C) Khalghat (D) Jabalpur

[ P.T.O.
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26.

27.

28.

AT Uehered YUEahI Taid wishl uIvgy
fre s A wElm ® ?

(A) e B

(B) aeh

(C) 2=t

(D) i

wy s, fee g € 8 fem @ w3
fra e @ gaf & 7

(A) TR (B) Terifa

() @it (D) forepe

AT TR A “Sia 37" Ao frEeh
R gehd ?

(A) T T T g e S w6 R
(B) I qen fere et wee & foie
(C) IV IR HehUT <hl Uham

(D) =€ Wehl A T hl IUCTETAT 3G

29, T % T WA W T &Gw waa =
e et & 7 STt gele # fem Tsa A
T3 ?

(A) T
(B) YW
(C) FeH
(D) Ty

30. Il ISR Tl § S H A A9t A
Toreft X T WA ek H WU UGh 3T
™ fm 7
(A) 88.67HkRT (B) 87.58 HiX
(C) 86.44iex (D) 85.30 HieX

31. WIUEX qRN1 IR ygIeAl ffeiRaa ® @ Tra
Sroft 1 qdadl hema 8 7
(A) HageT (B) Hebre
(C) 3Iraeit (D) ferem

HME/2021-A

32.

33.

34.

35.

36.

37.

38.

o fafy fuid - 2019 & IER TEmRy
% Al MITIITCTeh &%l 1 TehaHT foRId o
& T ?

A) 25.14 (B) 24.20

(C) 24.56 (D) 25.00

I b ITTHR AT T JTehig &7 e

A R forg SToTaTg WS 6T UFT § 7

(A) Bshw (B} Aw

(C) Cwg (D) ET

et et < wrgfee Y weney H @
TR ufgedt & wi § wiedt 7 7

(A) 50 cm (B) 70 cm

(C) 65 cm (D) 60 cm
eIyes § TAERE qeT Hermar we feu
e Ehw % o) v § 7

. (A) T (B) TR

(©) & (D) TR

TeauTet <6 faurh wiidn - g 2
(A) Tt o1 AleyE ge
(B) Toremrraem st Gaii¥e S

(C) ST SR HT

(D) TrerFas =t fmfe s

T H WA X ST A TR 8 ?

EX qeN  Hfgen
(A) 1981 27.27% 39.37% 13.93%
(B) 1991 38.63% 49.25% 26.94%
(C) 2001 44.70% 58.50% 29.40%
(D) 2011 70.60% 80.50% 60.00%

ARA H SHfees @t & ed B 4 F &b
T AT HT A TG ?

(A} BT (B) g

(C) e (D) =en
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26.

27.

28.

29.

30.

31.

Madhya Pradesh Eklavya Award
winner Shankar Pandey is related to
which sports ?

(A) Javelin throw

(B) Swimming

(C}) Table Tennis

(D) Fencing

Prabhu Joshi, who recently passed
away was related to which field ?
(A) Painter (B) Politics

(C) Music (D) Cricket

Madhya Pradesh Government has
launched “Jeevan Amrit Yojana” for
(A) To provide pure drinking water in
distant villages

Efficient and sustainable water
management

To prevent corona virus infection
Availability of blood in blood
banks

(B)

(C)
(D)

First CDS of our Nation General Bipin
Rawat died recently in a Helicopter
crash in which State ?

(A) Telangana
(B) Andhra Pradesh
(C} Karnataka
(D) Tamil Nadu

Neeraj Chopra of our Nation won gold
medal in Tokyo Olympics by throwing
Javelin to a distance of

(A) 88.67 m (B) 87.58 m

(C) 86.44m (D} 85.30m

Out of the following, Bhander and
Kaimur hills are eastward extension
of which ranges ?
(A) Satpura

(C) Aravalli

(B) Maikal
(D) Vindhyan

HME/2021-A

~a

32. According to Forest Status Report —

38.

34.

35.

36.

37.

38.

2019, in the total geographical area
of Madhya Pradesh, what was the
percentage of forest area ?

(A) 25.14 (B) 24.20

(C) 24.56 (D) 25.00

Out of the following, maximum
area of Madhya Pradesh is a part of
which climate region according to

Koppen ?
(A) Bshw (B) Aw
(C) Cwg (D) ET

Which rainfall Isohyet divides Madhya
Pradesh into two parts eastern and
western ?
@A) 50 cm
(C) 65 cm

(B) 70 cm
(D) 60 cm

In Madhya Pradesh, Ramkheriya
and Majgaonwa places are famous
for which non-metallic mineral ?
(A) Gypsum (B) Asbestos

(C) Diamond (D) Marble

Which is the legislative power of the
Governor ?

(A) Convening a meeting of the
legislative assembly

To address the legislative
assembly

Issue an ordinance

To dissolve legislative assembly

(B)

(€)
(D)

What is correct about the literacy
rate of Madhya Pradesh ?

Total Male Female
27.27% 39.37% 13.93%
38.63% 49.25% 26.94%
44.70% 58.50% 29.40%
70.60% 80.50% 60.00%

(A) 1981
(B) 1991
(C) 2001
(D) 2011

What is the rank of Madhya Pradesh
in acreage of agricultural land under
organic cultivation in India ?

(A) First (B) Second

(C) Third (D) Fourth

[P.T.O.
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39. 2020-2113[11?2{9%{513;1%0@'&’{3\ 46. TS I W1 FfaRed § ¥ ®A-a

Ieqre FraT 2 7 W ATy H @ i ? 2
(A) 9.01 TR (A) STTETR (B) TS
g oo m@m © g () e
(D) 9.99 fefemm 47. TeTe # -l et Al ¥ T
40, PGS H T ABE Tb TIT MR ? ﬁgi'ﬁ‘yaﬁ%m”a'é}'%@Si'“”g':ﬁﬁ‘m
(A) wfE e SLH T 7
(B) T T (A) 2008 (B) 2012
(©) T I (C) 2006 (D) 2011
(D) T T 48, TomsT § et fre F i v fe
41. 1857 % W G § HET &Y Al TAEH T ?
Tee TS 9y STfraama o ¢ (A) 1980 (B) 1982
(A) oS (C) 1983 (D) 1979
g m 49. = 1 g 11§ Gl &6 e i ™
DI fren i 1 TERAT o el IW H T RN
D) gt -1 T - 11
42. @i yRuRE deed 1., % e & @ ier AW 7, Rraw
LEIRG I ffta?
(A) W (B) fmrE I.a_vﬁ 1. ==
(C) EmEhIE (D) FeTrETE I1. Wiiel W 2. °H
III. STOETR 3. san
43, ‘Mgaww' Ay s R e i fem e ¢ V. TSEe 4.
(A) Tafesm (B) TR& .
(C) T (D) ¥R R
I I I IV
44, SeaR TR IFE TR F R R 7 A 2 4 3 1
(A) e (B) e B) 3 2 1 4
(C) et (D) ST © 1 3 4 2
D4 1 2 3
45, Hid JE9 B GEqles T 71 Gl 7
(A) M FHIR 8 50. fr=ffae § & w1 "R 3R R
B) g R Rt # watfs ReE s aem @ 2
(C) wereRE fgad a) & (B) <TeT
(D) HieTer™ faa! (C) FaAl (D) THd
HME/2021-A 8
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39.

40.

41.

42.

43.

a4.

45.

State the Gross State Domestic
Product of Madhya Pradesh for
2020-21.

(A) 9.01 trillion

(B) 9.18 trillion

(C) 9.92 trillion

(D) 9:99 trillion

What is the most popular folk dance
of Bundelkhand ?

(A) Moniya Nritya

(B) Raas Nritya

(C) Rai Nritya

(D) Lakair Nritya - '

Jhalkari Bai who participated in
freedom movement of 1857 belongs
to which region of M.P. ?

(A) Bundelkhand

(B) Malva

(C) Nimar

(D) Vindhya

‘Swang’ the traditional folk dance is
related to which area of M.P. ?

(A) Malva (B) Nimar

(C}) Mahakoshal (D) Bundelkhand

In which district of M.P. “Bharhut
Stupa” is situated ?

(A) Vidisha (B) Raisen

(C) Satana (D) Sagar

On the bank of which river Badvah
city is situated ?
(A) Kshipra

(C) Tapti

(B) Narmada
(D) Betwa

What is the actual name of poet
Pradeep ?

(A) Shyam Manohar Dwivedi
(B) Ramchandra Dwivedi

(C) Madhavrao Dwivedi

(D) Mohandas Dwivedi

HME/2021-A

46.

47.

1

48.

49.

50.

Out of the following, which place is
NOT situated in Madhya Pradesh in
terms of manganese production ?
(A) Balaghat (B} Mandla

(C) Durg {D) Chhindwara

In Madhya Pradesh, in which year
Promotion Policy was'implemented in
order to grant promotion to electricity
production by non-conventional
power sources ?
(A) 2008

(C}) 2006

(B) 2012
(D) 2011

Madhya Pradesh Urja Vikas Nigam
was established in which year ?
(A) 1980 (B) 1982

(C) 1983 (D) 1979

Match List I with List I and select
the correct answer using the codes
given below :

List - I List — II
Name of Dam River on which
constructed
I. Bargi 1. Chambal
Il. Gandhi Sagar 2. Son
III. Bansagar 3. Betwa
IV. Rajghat 4. Narmada
Codes :
I II III IV
A 2 4 3 1
(B) 3 2 1 4
)1 3 4 2
4 1 2 3

Out of the following, which is
maximum means of irrigation in
Balaghat and Seoni districts ?
(A) Canal (B) Tanks

(C) Wells (D) Tubewells

[ P.T.O.
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51.

52.

53.

54.

TE-d
(STIATE Ud HIeS ek T TaitH)

TR U8 o TEd UF WH 3TE TH 1 8 ?

(A) TR 1 R @R 87 RGeS
T TG §

(B) SR ¥ R (Sfosf) Jw-anumia
TR g soret

(C) iRl % g B B FA B wE

(D) A& F INUR T qFAIEHA

ST Awie fien (DBMS) w1 ST

T fopar s @ 7 ‘

(4) 3F@ g el | RER w1 gl
SUENThAlal % ST ® SR 3R
QTS ST

B) vaH o Ul wIgw WRe Wi & &

(C) I Rreen & 9T BI5a SR i -27Af
SR

(D) ERTR IR T F o ey oo B

T SEH HIS

(A) TH TRF-TR HiE

(B) Th Agieas Fe

(C) T JaTE =1¢

(D) U HREisHH o oeh i TRE w0 & e
T TSR S aTefl R

1 Y& HeH AT o e |

(A) Rren fowmm

(B) SHEEEAl ISR

(C) R T

(D) faeen fewmen

HME/2021-A

10

55.

56.

57.

58.

59.

frfaRea o @ Ha-a1/3 fen fesza =
TIE = R/E ?

(A) Toreew sTReye i faftrsed

(B) Toreen vt = 1 fereer

(C) B TafeE 1 fomm

(D) 3wl Aeft

TrafaRad A & sF-w faque s o g
T T8 7

(A) g (B) T

(C) TgIa (D) &

FrerfaRaa § 9 S Qa1 fauom B d§
Hig T8 7

(A) Su¥ieT (B) I

(C) T (D) HHIRY

TR afierer ¥ & fee fomar sran 2

(A) U 3G I forsht 1 qEigam
(B) HIESIS GRaT

(C) WM Sere 1 skl 1 gaigAm @
(D) TeBhI & T 1 AN

TMeH T 6 STFHR -3 Yfd o adiept
! I T R T R ?

(A) R It

(B) Torcm ¥ @

(C) THRE faaor

(D) T Jufeufd
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51.

52.

53.

SECTION - B

(Hospital and Public Health Management)

What is HMIS under government
initiative for ?

(A) The mission aims to raise public
spending on the health sector

(B) Government to government
(G2G) Web-based monitoring
information system

(C) Aiming to reduce disease burden

(D) Evaluation against standards

Database Management System (DBMS)
is used for

(A) Storing and retrieving user’s data
while considering appropriate
security measures

It does not include third party file
storage

It allows to create file outside the
system

Interface between software and
data is possible

(B)
\®)

(D)

A pseudo code is

(A) A machine-level code

(B) A random number

(C) A flow chart

(D) Structured English tocommunicate
the logic of a program

54. The main ingredient of the report

HME/2021-A

.is the cost

documenting the
benefit analysis.
(A) System Analysis
(B) Feasibility Study
(C) System Analyst
(D) System Design

11

55.

56.

57.

58.

59.

Which of the following is/are major
step/s of system design ?

(A)
(B)
(C)

Specification of system output
Development of system flow chart

Development of program
specifications

(D) All of the above .

Which of the following is NOT the basic
element of marketing mix ?

{A) Product (B) Price
(C) Promotion (D} Rate

Which of the following is NOT present
in services marketing triangle ?
{A) Consumer ' (B) Company

(C) Time (D) Employee

Market test inethod is made for

(A) Forecasting new product sales
(B) Public security

(C) Forecasting old product sales
(D) Forecasting benefit of sale

The GATS ag}'eeme_nt covers modes
of supply except

{A) Cross border supply
(B) Consumption abroad
(C) Constant distribution

(D) Commercial presence

[ P.T.O.
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60.

61.

62.

63.

64.

frafafas 3§ @ BF-u1 Ruom shEus § 0 65. i YAl # 9 SiF-an 1R quen

TIE IR R 7
(A) THEM

(B) Satdie & &
(C) hITE o3k
(D) i wler

T vitew Rrad ot e 49 W T g,
HEAWI B

(A) iR yReeT

(B) Tiv=meds gioeq

(C) Wrhfes ulewy

(D) (A) @ (C)gH

TR AfeET % Heesh T g 7
(A) R =

(B) RO =R

(C) IFEBm =

(D) ST &t

T =R g BT JEN ke e B, 5 e
T wneT | afaey ]

(A) <Y = Yiqay

(B) >l = W=y

(C) =faey

(D) (B) @ (C) &Rl

Tyt Twelt bt e O (C - Z) #
AT = % TUIH 9 S B

(A) SR

(B) wEH I5d

(C) (A) T (B) G

(D) Tafrm= 6 dora

HME/2021-A
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66.

67.

68.

AT R 7

(A) TR <l GHE TR ST 6l Th
fordre < 2

(B) STITEr B T 5E €9 § < e
6 TuE 7

(€) e H gren e ffy |
& el T TR B

(D) gl Srfammm 6t T e
oty @ 57 =& X wed €

ot Tgafa & ot <l S HE R 7
(A)  EHEAI T

(B) 3

(C) ST Fed

(D) Swdw & i T

WA GChR o fopa o wma 37 <t SeImior
i i feman 2

(A) 1988 (B} 1994

(C) 1999 (D) 2003

G e €A, sfifem, 1994 % SFER,
fort T < forq <t ame STE o SteR)
T RTE ?
(A) 199
(C) 3%

(B) 299
(D) 58

. Rt () stffem, 2021 %8 | @R

WE?

(A) 25 &R, 2021
(B) 25 feE, 2021
(C) 25 Had, 2021
(D) 25 SHel, 2022
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60.

61.

62.

63.

64.

Which among the following is major
tools in marketing public relations ?
(A) Publications

(B) Randomization

(C) Personnel meetings

(D) Clinical trials

A model in which all parameters are
random variable is called

(A) Probabilistic Model

(B) Deterministic Model

(C) Stochastic Model

(D) Both (A) and (C) -

What are the components of
Mathematical Model ?

(A) Decision variables

(B) Result variables

(C) Uncontrolled variables
(D) All of the above

Artificial variable is being used,
when constraints in the linear
programming problem is

(A) < and = constraints

(B) > and = constraints

(C} = constraints

(D) Both (B) and (C)

The coefficient of slack variables in
index row (Cj - Zj) of simplex table is
known as

(A) Shadow price

(B) Accounting price

(C) Both (A) and (B)

(D) Marginal rate of exchange

HME/2021-A

13

65.

66.

67.

68.

69.

Which of the following statement is
true about assignment problem ?
(A) Assignment problem is a particular
case of transportation problem
(B) Assignment problem is essentially
a minimization problem

(C) Assignment problem cannot be
solved with simplex method

(D} Unbalanced assignment probiem
cannot be solved by Hungarian

method

Examining the patient without
consent amounts to

(A) Assault

(B} Unethical Act

(C) Indecent Act

(D) None of the above

Transplantation of Human Organ Act
passed by Government of India in the

year
(A) 1988 (B) 1994
(C) 1999 (D) 2003

According to PCPNDT Act, 1994,
punishment for Doctor if found guilty
for sex determination

(A} 1year (B) 2 years

(C) 3 years (D) 5 years

The Surrogacy (Regulation) Act,
2021 came into force on

(A) 25 November, 2021

(B) 25 December, 2021

(C) 25 January, 2021

(D) 25 January, 2022

[ P.T.0.

Page - 13



70.

71.

72.

73.

i oo B Reeeht g sl e
TR ?

(A) Q wE

(B) o T@

(C) IR TE

(D) Ui W

S Ty Qasti &1 31 |

(A) THETEHT, STEIRICARAT 4 IR 1
TR T

(B) ael Tramer dar

(C) HaeT IUAR T

(D) ad R TE ITER Fa
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JEYEE B 7

(A) TR < ggEH ST FRRET S

(B) MYl (missing) ATHEH i I8 h
Sigfd Al i gEhdl % g

() Fim w= & fo

(D) S9e | | BiE 7

@S |mfd, 1965 i T yg@ e

oft

(A) TTafiep 37T S Qeatt
CEhIHT

(B) TR HHITRAL & g Galt i
AT

(C) wwifwn wiafalRmt %1 aier e @
ST BT

(D) Wfieh W g <ht T

HME/2021-A
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74.

75.

76.

77.

78.

DGHS %R@d 3 1966 7, fafran, wmees

3R walm foem @ wafm g=et ol

THT TF §6h SEH FeH SR THR & R,

T Teiue fopam o ?

(A) gﬁﬁmm(ﬁmﬁﬁw
SEIY)

(B) i W SR (3 3o FREm)

(C) e Tatthear e (Sge Biswa
SE L) ‘

(D) W # | IS 7T

HHGIR WRe %5 (CHC) 1 T
yftreRT ©

(A) TE YA 561

(B) Tori Teifess &t

(C) IFEIH

(D) S~ Fem

TR TIvaiyor & ITHER, T SfH
1 ST argn sreenett @
TR |
(A) 4
(C} 6

it giemr fafr = e fhem
fomem 2

(A) die T

(B) wH.Ta. 34

(C) a1 dfi=

(D) S et

Frem < fafr g
(A)
(B) =M
(C) S

(D) wE gl

(B) 2
(D) 3
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70.

71.

72.

73.

Artificial Insemination is classified
into

(A) Two types
(B) Three types
(C) Four types
(D) Five types

Comprehensiveness in Health Care
means

(A) Optimum. mix of preventive,
curative and promotional
services

(B)
&)
(D)

Only preventive care
Only curative care

Only preventive and curative care

Sentinel Surveillance'is needed for

(A) Identifying and monitoring
cases

(B) Identifying the missing cases

and supplementing the notified

cases
(€)
(D)

Continuous investigation
None of the above

One of the major recommendations
of Mukherji Committee, 1965 was

(A) Integrating Primary and Curative
Health

Establishing 2 Cadres of Health
Workers

(B)

(C) Delink Malaria Activities from
Family Planning

(D) Set up Primary Health Centres

HME/2021-A

74.

75.

76.

77.

78.

The Office of DGHS set-up the
following to collect, disseminate and
exchange of information related to
medical, health and related sciences

in 1966

(A) National Medical Library
(B} Central Health Museum
(C) Central Medical Library

(D) None of the above

Community Health Centres (CHC)
also function as

(A) First Referral Unit (FRU}

(B) Specialized Robotic Surgery
(C) Research

(D) Advanced Diagnostics

As per Transactional Analysis, everyone’s

personality is made up of Ego
States. .

() 4 B) 2

C€) 6 (D) 3

Who developed programmed training
method ?

(A) Paul Pigors
(B) S.L. Pressey
(C) Dale Beach
(D) Dale Yodor

is the method of elimination.
(A) Recruitment
(B) Selection
(C) Induction
(D) Placement

[ P.T.O.
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79.

80.

81.

82.

83.

84.

85.

el Sy, 9 T R
(A) e HOARH FTEIRR
(B} e sufefeefidl sawar
(C) TiiEe HiER TR

(D) WIF FATEIT FaEEGHR

Frafafea # |/ H-H TSR B /o

imea A R AR

(A) GwElt 39

(B) TIH

(C) Sew

(D) WTifEh v

A PR A fpa S e € ?

(A) 4 B) S

(€ 3 (D) ¥¥ ¥ &g T
g ot 7 3 Tt <t et 9ot R

(A) 6-12 (B) 15-20

(C) 2-5 (D) 12-16
fafrear sl Qareil o fe wnftrer = 2
(A) TRTRRER

(B) A¥mmH

(C) TEEREE

(D) BeRATSt
STl TWeed 3R G e 6
STTIROT F MR R Toft FR 3 1lermi
(St <l gelTs TS FE @

(A} 0.3 "X (B) 0.9 HiX

(C) 1.2 (D) 2.9 HieX
AT % TR & o Sfen i,

TIESITHRITR, TAR, heigt o@l I
C

(A) g (B) Ht @ @ €
(C) IRy RRx (D) wEFRen

HME/2021-A

86. TJ TG [H

5 BigwH wft wiet

g1
(A) TTERRIT % HRO WA G
(371 | e 7Y)
(B) I Feg-uTd <6 SR AT Ik oG
(C) wgiE ¥ Aiewaiadl ¥ 7L B
(D) TITee < HRUT TEHARR T
(55 % =IG 7eY)
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#Y 8 fmm=
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(D) aE™El & T 3iftreram iy @wEn
iee % T geehl o i S @

. Ted-ge dafFed gl T (MUSIC)

B 3 THR IR Ren @ @ 2

(A) EUF qed, AEaqU 3R ofis TEn
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(C) SR &I VED gt Fem

(D) 3WEd # | HiE T

. T g FEEe B wEE WOel ORI
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(A) fom =1

(B) T G FRE i Se-37-2rRy It

(C) =W SR % fore st

(D) W8 hadl AT gl Faba
T
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79. What is the full form of “JCQ” in 86. Maternal Mortality Rate includes all
Recruitment ? Except
(A} Job Compliance Questionnaire (A) Antepartum death (death prior to
B) J oP Compatibility (.Questi.onnaire delivery) caused by pregnancy
(C) Joint Career Questionnaire (B) Abortion death-during or following
(D) Job Corresponding Questionnaire :

an abortion

80. Which of the following details is (C) Dies of complication from the
mentioned in Job specification ? diabetes
(A) Material used (D) Postpartum death (death after
(B) Location delivery) due to pregnancy
(C) Objective
(D) Physical Skills 87. All statements are correct for

Economic Order Quantity (EOQ)

81. How many zones are there in OT ? Except
(A) 4 B) S (A) Ideal order quantity a company
(C) 3 (D) None of these should purchase to minimize

82. Ideal range of beds in an ICU is inventory costs

(A) 6-12 (B) 15-20 (B) Itincludes holding costs, shortage
(C) 2-5 (D) 12-16 costs and order costs
(C) Developed by Ford W. Harris

83. Medical Imaging Services does NOT (D) Itiscalculated to find the maximum

include order quantity for businesses

(A} Fluoroscopy

(B) Mammography 88. Multi-Unit Selective Inventory Control

(C) Ultrasound (MUSIC) is defined as

(D) Pathology (A) Includes consumption value,

critically and lead time
(B) Type of ABC inventory control
(C) Type of VED inventory control
(D) None of the above

84. Based on the concept of hospital
hygiene and infection control, the
suggested height of ‘Dado’ in all
rooms and corridors is

:g (1)2 21:: ((g; gg EI: 89. What is the use of Kanban system of
inventory control ?
85. Sluicing machine, hydroextractor, (A) Bin card
tumbler, calendar can be seen in (B) Just-in-time system of inventory
which area of hospital ? control
(A) Laundry (B) CSSD (C) Used for knowing the demand
(C) OT (D) Laboratory (D) It control only essential items
HME/2021-A 17 [ P.T.O.
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90.

91.

92.

923.

94,

1 21 % &9 ¥ qiefia femm S
Feral & o w0 w9 3 Hanite foen e R
ST SRl o fore wneles & ST S A sied
ot 3 arcfers M FRA TR H R |
(A) someft (B) €31
(C) renfeh (D) W

T TR & WS TG S oh 7T 39T
T T Tl seRget T T H e 8
(A) arETerRar

(B) TSGR TEm

(C) Sia egma

(D) W= @t

Trqum geR s9e fopg mrem | wnfta
T g ?

(A) weeor fafy

(B) germ faf

(C) wioeadff gman fafy

(D) FFm fafa

Afhet 7-TH. e %1 T 3T FNM R ?

(A) Terell off Tte © Tafshearen o ivre <
Wi W % g

(B) &S g0 fopu MY @ fi S FW
ferg

(C) TS <hl Hheral TR BRI 6l =
HH % U

(D) TS gRT TR 77T R YT Y i

18, E1. &, wriEa i forg <l =l Frafa
w0 % T di= o mm e ?

(A) Tt (B) hHIGT TR
(C) MER (D) Tifernfeg
HME/2021-A

95.

96.

97.

98.

99,

18

wIferRer s fegayer e 3R et wmed |
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s R 7

(A) T Tergetgo

(B) R fereetsor

(C) e fageiwor

(D) @i forgeiwor
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(A) TR TaT SHHITE S wt
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(C) Friefier it

(D) b5t e
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(B) H.wa.Hl.

(C) Y=L

(D) & TR
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(A) VTR & YA | I B
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(C) W& e YA

(D) :jnfﬁ WM T ITH (A), (B), (C)
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90.

91.

92.

93.

94,

____ can be defined as data that has
been processed into a form that is
meaningful to the recipient and is of
real or perceived value in current or
prospective decisions.

(A} System (B) Information
(C) Technology (D) Service

The blackpool rock phenomenon used

for setting the standard of custom care
comprises of

(A) The reality

{B) The managerial intent

(C) The perceived capability

(D) All the above

Marketing communication budget is

_established through

{A) Survey method

(B) Comparison method

(C) Competitive parity method
(D) Artificial method

What is the main objective of Mc-Kinsey
7-S framework ?

(A) To check the skills of clinicians
in any organization

To check the profit made by
organization

To check the success and
functioning of organization

(B)
©)
(D)

To check tax payment made by
organization

IDD program was launched for the
control of which disease ?

(A) Malaria (B) Kala Azar
(C) Goitre (D) Cataract

HME/2021-A

19

95.

96.

97.

98.

99.

The process of analyzing the
environment and assessing

its probable effect upon an
organization, the most useful of
these is referred to as

(A) PEST analysis

(B) BAR analysis

(C) Impact analysis

(D) SWOT analysis

Which statement proves that
Indian Primary Health Care is
under utilized ?

(A) Acute shortage of Health Care
workforce

Curative care accounts for 80%
of total health expenditure
75% human resources are
unregulated

There is a shortfall of
infrastructure

(B)
(C)

(D)

Which is NOT included under
Private Health Expenditure ?
(A) Out of pocket spending
(B) Private health insurance
(C) Working capital

(D) Central grant/funds

As per NUHM (National Urban
Health Mission) the first tier
comprises of

(A) Urban Health Post

(B) CHCs

(C) PHCs

(D) Referral Centre

The functions of Voluntary Health
Agencies are related to

(A) Supplementing the efforts of
government

Education

Demonstration and proof
Mobilise public opinion and all
above (4), (B), (C)

(B)
(C)
(D)

[ P.T.O.
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100.

101.
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103.

104.
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105.
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109.
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100.

101.

102.

103.

104.

HME/2021-A

Guidelines for management of.

hospital bio-waste are given in

which of the following Act ?

(A) Clinical Establishment Act

(B) Nursing Home Act

(C) Biomedical Waste (Management
and Handling) Rules, 2016

(D) National Health Policy

Commonly raised legal and ethical

issues in telemedicine are

(A) Physician — patient relationship

(B} Quality and standard of care

(C) Confidentiality and privacy
information

(D) All of the above

The term “Robotics” was coined by
(A) Issac Asimov

(B) Robert Schueller

(C) Issac Aminova

(D) Robert Martin

Robotics in healthcare is an emerging
field with four categories of its
classifications. Identify one of them.
(A) Tele-Ventilator

(B) Telepathy

(C) Android

(D} Tele-medicine

The “SOAP” model of triage is called

as

(A) Subjective, Objective,
Assessment, Plan of Care

(B) Systematic, Objective,
Assessment, Plan of Care

(C) Selective, Operational,
Assessment, Plan of Care

(D) Subjective, Optional, Assessment,
Plan of Care

21

105.

106.

107.

108.

“PQRST” model of triage assessment
is called as

(A) Provokes, Quality, Radiates,
Severity, Time

Plan, Quality, Radiates, Severity,
Time

Plan, Quality, Radiates,
Systematic, Therapy

Plan, Quality, Radiates,
Simulation, Therapy

(B)
(C)

(D)

Excess of current assets over
current liabilities is known as
(A) Gross Working Capital
(B) Net Working Capital

(C) Average Working Capital
(D) None of the above

Accounting Standard (Revised) - 3 is
related to

{A) Cash flow statement

(B) Fund flow statement

(C) Balance sheet

(D) Income statement

At Break Even Point

(A) Total Cost = Total Sales Revenue
(B) Total Cost > Total Sales Revenue
{C) Total Cost < Total Sales Revenue
(D) None of the above

109. The main objective of cost

accounting

(A) Recording of cost

(B) Fixation of selling price
{C) Cost control

(D) Maximization of profit

[ P.T.O.
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110. The cost of medicine in a hospital isa 116. The Nightingale Ward is a pavilion

(A) Fixed cost
(B) Variable cost

(C) Semi-variable cost
(D) None of the above

111. According to the fundamentals of

112.

Medical Architecture, Design should
follow

(A) Function
(C) Cost

(B) Form
(D) Profits

is a written document
which explains the operational
policies, types of services to be
provided, inter-relationships and
interdependency of each facility.
(A) Feasibility report
(B) Architects brief
(C) Site analysis
(D) None of these

113. Flooring in hospitals should have

the following characteristics
(A) Non-slippery (B) Anti-static
(C) Conductive (D) All of these

114. The gradient of ramp in hospital

115.

should be between
(A) 1:4and 1:8
(B) 1:8and 1:10
(C) 1:12and 1:20
D) 1:6and 1:10

Nightingale, Riggs, T-shaped,
circular are the types of

(A) Administrative area

(B). Bed arrangement in wards
(C) OT design

(D) OPD services

HME/2021-A

23

117,

type of a ward and consist of
patients’ beds in

(A) Cubicles in each corner with each
cubicle having four beds

(B) Four to five rows arranged in

theatre style

Beds arranged in circular manner
around the nursing station

Two rows at right angles to the
longitudinal walls

(C)

(D)

Formula for calculating Bed
Turnover Rate’ for a given period is

(A) Number of discharges and deaths
divided by bed complement

(B) Average daily census divided by
bed complement

(C) Number of inpatient day care
divided by total discharges and
deaths

(D) Sum of time taken between two

consecutive admission divided by
bed complement

118. The process of assessing and sorting

the casualties on the basis of priorities
for treatment is called as

(A) Code purple

(B) Triage

(C) Disaster management
(D) Mass casualty handling

119. Inacomplex organization like hospitals,

dual lines of authority exist. In such
organization, physicians enjoy which
kind of status ?

(A) Scalar (B) Functional

(C) Bureaucratic (D) Divine

[ P.T.O.
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120.

121.

122.

AT BT FRMTSHA oWt ferm
AT H I T S 9T SUhUT <
giehal & FEbe w0 & fow T vonedt
1 ST HET 8] ?

(A) HRTIE oI

(B) Tiares wer@mE et

(C) e fH frem

(D) e @™ Y

HUAR! gIEeT (i) ffrm, 2017
% AR e w1 waeg § fp 98 I
HHIH ! YIS F ATBR F R A R
& ; T THRH Yo w1 | faed @ )
Tora ST TR ST OhaT § 7

(A) Th I T

(B) & W@ ¥

() @ wrE v

(D) IR &

URd A SRATSHA v (Teeq 37t gsfem)
T e @ e ?

(A) 10 1996

(B) 209aTg 1998

(C) 1337 2003

(D) 14fe@=t 2007

123. 3y IR wicd gaas foam, 1945 &
IIER, I AR € few arpgEh A
Fiffpa Frem T R 7
@A) C (B) E
(C) F (D) G

124, gfGeht 6t awon Fefaliea 3 @ fre a
Tafa 8 ¢
(A) ST NIRII
(B) WS TN
(C) 9T
(D) Tafeeeas 13Uy
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125.

126.

127.

128.

129,

130.
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I yreu Tafercges <l AITIETE] % HROT I
Tafercen 3 SRE Tnft At Teg &1 I 8, Al =9
R FrefaRad o/ & feae @ 3wy e
ST Tehal 8

(A) 299 IPC (B) 300 IPC

(C) 304-AIPC (D) 304-B IPC
TATST TEH I TR (6T ST Tl §
(A) HERIGRT (B) WIS §RI

(€) wflenl g (D) S9ed @t gra

FrferRea & @ BR-dl 99 Tl 6w
Toreroan &t & 7
(A) Tq
(B) HMING WE
(C) o
(D) T ETe ishan
o A=Al 6 i eI 3K dm
WIEAT IR 8 |
(A) SEEIT
(B) WAl
(C) & it W
(D) 3gemE

Frefafea 3 @ wiF-w1 w6 yEEeR <
T AL TR G ?

(A) W 3

(B) wEwIfr

(C) IFg=niERaT

(D) 1§ ST W=y T
sifgrertor-nfy wem He-ga: Tt @
aftad wiset e gr feam e 2

(A) e Afm (B) M TR

(C) < diw (D). "X g
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120.

121.

122.

Biomedical Engineering Department
of a hospital uses which system to
control the accuracy of equipment
used in the hospital ?

(A) Calibration system
(B) Preventive maintenance system
(C) Asset tracking system

(D) Annual maintenance contract

As per the Employee’s Compensation
(Amendment) Act, 2017, it is the
employer’s duty to inform his employee
about right to compensation; failure to
provide such information is punishable
with a fine up to

(A) One lakh rupees

(B) Two lakh rupees

(C) Three lakh rupees

(D) Four lakh rupees

Biomedical Waste (Management and
Handling) Rules came into force in
India

(A) 10% June 1996

(B) 20% July 1998

(C) 13% August 2003

(D) 14% December 2007

123. As per the Drug and Cosmetics Rules,

124.

HME/2021-A

1945, vaccines and sera are classified
in Schedule
(A) €
(C) F

(B) E
{D) G

Declaration of Helsinki is related with
(A) Organ transplantation

(B) Human experimentation

(C) Torture

(D) Physician’s oath

25

125.

126.

If death of patient occurs during

surgery due to the negligence of the
surgeon, then he can be charged
under

(A) 299 1IPC (B) 300 IPC

(C) 304-AIPC (D) 304-BIPC
Organisation culture can be transmitted
through

(A) Stories (B) Language

(C) Symbols (D) All of the above

127. Which of the following is NOT an

128.

attribute of “clan culture” ?

(A) Tradition

(B) Social Influence

(C) Loyalty

(D) Standard operating procedure

involves harmony and team
spirit among employees.
(A) Order
(B) Standardisation
(C) Espirit de corps
(D) Discipline

129. Which of the following is NOT a

characteristic of an effective team ?
(A) Clear purpose

(B) Participation

(C} Informality

(D) No External Relations

130. The Unfreezing-Moving-Refreezing

Model of change was given by
(A) KurtLewin (B) Jane Mouton
(C) Keith Davis (D) Peter Drucker

[ B.T.O.
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131.

132.

133.

134.

135.

136.

TR TP % SYR W TGl 1 e 137, w@ied | G Jifaied N & w9 3

I A TR qod’ S ot B 8 S8 W
fopa ST B 2
() Ffa (B) wleam!

(C) T (D) “iifespar

ThE YR % IMYR W THIRT 1 @l
ARG e % SMYR T TR 91T B =18 SR
T ST A1 A R ?

(A) oET Gy FgERen

(B) T staumon

(C) WFTA STaHReT

(D) S9ge o A Hig T

T IR Fd oxy T ° 9 feraent v

TS g ?

(A) fafdre siem

(B) 3 ferm

(C) @t =gt

(D) IERT SHoT

Fa A O e @ 2 2

(A) Teied @

(B) TR

(C) WA

(D) = foret

YR Inids i oAl % foe e 9

ﬁq-magngaa‘am%?

R S L
EC ISR SEH
EGiC] SIEH

C D

©C) — (D) s

SISH TRA-THHEA S ST FSFT 6

agd Ui IR fora gl &1 TR foman

ST Hehal & 7

(A) €&

(B) UNER o WeEA! i & i Hiur e
(C) ¥
(D) =
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138.

139.

140.

141.
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ITHYH T T o A AT 7 | ) STRHT
Fiftrfrem i forg a0 % TRq @A W %
T X Y TG FA1 R ?

(A) €RI 80 T (B) 411 80 =i

(C) arT 80¥ (D) URT 80 €t

T SHI Sl Y1ERUT 26 ITIehel aiieh & WThiieh
TEREA] 1 ST FA gE Wh A W IR
ST WisRaT H UEEa wEetidl &

(A) W gifea

(B) URIRH STUATE

(C) (A) 3R (B)

(D) 9w & & BIE T

R-FIRidad waHi, A, Tl ik
Tifehn & ¥ Yhw Wi B (TeTiE)
F T 99 $7 H g A Fggan

= foR ST B |
(A) <& Wi (B) T=dte wksma
(C) v U™ (D) Usg Wi

THh WA @I WA % i aiftepa
yEiRR SR e g Rt Wt H e
TelEfl SR T SR ieh ehiS Thgellal & |
(A) STIAR (B) STHSTR
(C) s (D) 3R

IW-UTEH $ e Fem

(A) YRS GO g9 T A % g
W 3

(B) TIEATH T T 4 b T T 2

(C) 3TTEX EANTH & =TaH 60T i STTERON
T I 2

(D) Sw A & BIE T
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131. On which convention basis, 137. Health Insurance comes with tax benefits
Inventory is valued ‘at cost’ or as added incentive. Under which Section
‘Market price’ whichever is less ? of Income Tax Act, it provides tax
(A) C<.>n31stency (B) Conse.rvg‘asm benefits for Health Insurance ?
(C) Disclosure (D) Materiality (A) Sec.80A (B) Sec. 80 B
132. Under which Concept asset is (C) Sec.80C (D) Sec.80D
recorded at cost, even if the market o .
price is more or less ? 138. Abulldm‘g that enhances patient’s well-
(A) Accounting period Concept being and aids the curative process,
(B) Matching Concept while utilizing natural resources in
(C) Cost Concept environment friendly manner is called
(D) None of the above as
133. While preparing trial balance, which (A) Green H?spltals .
is being used out of the following ? (B) Conventional Hospitals
(A) Specific journals & " (4) and (B)
(B) Balance sheet (D) None of the above
((g; Iéii%i;l journal 139. ’I‘he Lightning Power Density (LPD)
in non-air conditioned buildings,
134. What is NOT current asset out of the interior, exterior and parking areas
following ? shall be reduced by minimum
(A) Prepaid expenses over ECBC base case.
(B) Debtor &) 10% (B) 25%
(C) Building (C) 5% (D) 15%

(D) Bills receivable

140. An electronic record of healthcare
information of an patient that is
created, gathered, managed and
consulted by clinician and staff within

135. In order to calculate operating
leverage, which formula is used out
of the following ?

(4)" Contribution EBIT one healthcare organization is called
EBIT Contribution (A) EHR (B) EMR

o EBT ) Contribution (C) EPR (D) ETR

© Contribution( EBT

. 141. The north-west corner rule is
136. How many members per family can be . L .
enrolled under Ayushman Bharat — (A) Used to find a initial feasible
solution

Pradhan Mantri Jan Arogya Yojana ? :
(A 10 S _ (B) Used to find a optimal solution
(B) There is no limit on family (C) Basedon the conceptofminimising

members .
(C) 7 opportunity cost
(D) 5 - (D) None of the above
HME/2021-A 27 [RP.T.O.
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142,

143.

144.

145.

146.
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ﬁ?ﬂﬂqT%:

ST & ¢ 10 W8S gl wver

a1 W : 15 ATEh Wi T

[T I HE 6 HA T B 12 e uga
TTE & SAWR A =l TR 2 1

(A) 0.368 (B) 0.425

(C) 0.245 (D) =3 &

e § SR T B 37 3
(A) T&T T A A sadid T
(B) Far ¥ =i T7g

(C) (A)aT (B) gl

(D) i T

HH- oy & swla Fem 1 98 998
S 2, S AR aiF ¥ a0 B W
IR ATSe IR T wemnet %
T < GRAEn YoM e g 7

(A) T fafe

(B) whar fafey

(C) T (argwrh) iy

(D) SwfE fagra

H-Ht TR HHATE! 6 T
T gg F Thdl 8, B 5 T I 6
e ot TR ®, g Fuiia o e R
76 3yl e g =ty 6 St =i
3TN 3TERT-3TeT Argeht % fere TR fdait =t
R ¢

(A) T TEnfeh

(B) seTRet

(C) sTer At

(D} 1 & B

At Tl 1 gl gufty 7 S @ 2
(A) STEIATA (B) Tt
(C) E&R (D) Sl
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147.

148.

149.

150.

Rd & At e sfkifem (e

gefenme ww) % SHER T srae @

T 1 3T o &9 H i T e 2

(A) ToRiv FET Yem S 91T IR

(B) 3rEdqTe S gR-WRERTE Fa€ 7gH
Tl B

(C) g Tafeen |E€ Yem HW 9
ST

(D) Treror SreqaTer

CSSD # fohu U oed H gasiafemr
et s & foe T IYE
frT ST R 1

(A) . Rikcenra W]
B) fi. wIRTHT s

(C) drEdt

(D) ). ErRiumithere s

.0, H AFh & ER Ted At
T ik A SE Tiigel Hedr H Uk
% feru, Tft &Y g™ % forg ~mew fhaa
TgaH gl &1 wn R s =Y ?
(A) TH

B) &

(C) =

(D) UET BIS AR & ]

ToTer 6t T’ 1 Tk e H, sl
AT S HHTEAT 1 Tt St g e
I9T I gifRra o 5 ferg forar wmar 8
Toh Teraor wiseaT SqTaRTIaTl 6t STavahaist
QU Tl R, S wemmat 3R AR
%+ gey A fenfya ® ¢

(A) Trares s

(B) FoHTHT TTE

(C) Araies fasserar s

(D) =&l Tawean @r@
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142.

143.

144.

Given :
Arrival Rate : 10 customers per hour
Service Rate : 15 customers per hour

Probability that a customer has to
wait at least 12 minutes before he
gets service

(A) 0.368
(C) 0.245

(B) 0.425
(D) None

Waiting time in the system means
(A) Time spends for getting service
(B) Time spends in the queue

(C) Both (A) and (B)

(D) None

Which method does involve set of
rules which facilitate solutions of
scheduling layout and distribution

14'7. Which hospital will be categorized

as Level 1 Hospital, as per Clinical

Establishment Act of India ?

(A) Hospital providing speciality
services

(B) Hospital providing super-speciality
services

{C) Hospital providing general
medical services

(D) Teaching hospitals

is used to perform
microbiological surveillance of
sterilization done in CSSD.
(A) B. staphylococcus spore
(B) B. MRSA spore
(C) TST strip
(D) B. Stearothermophilus spore

problem when applied in a consistent
manner ?

(A) Gaming method

(B} Queuing method

(C} Heuristic method

(D) Utility theory

149. As per N.A.B.H. recommendations to
prevent adverse event like performing
procedure on wrong patient, minimum
how many identifiers should be used
to identify patient ?

(A) One

(B} Two

(C) Three

(D) No such recommendation

145, Which technique can help schedule
employees, record time worked,
determine when supplies should be
recorded and flag special instructions 150,
for individual customers ?

(A) Service Technology
(B) ERP

(C) Data mining

(D) None of these

In determining ‘cost of quality’, which
cost represents the resources that
are consumed to ensure that the
delivery process satisfies the needs of
consumers, defined in terms of both
providers and patients ?

(A) Preventive cost

(B) Appraisal cost

(C) Internal failure cost

(D) External failure cost

146. Medical records are the property of
(A) Hospital (B) Patient
(C) Government (D) Doctor

HME/2021-A " 29 [P.T.O.

Page - 29



% % / ROUGH WORK

HME/2021-A 30

Page - 30



HME/2021-A

TH & / ROUGH WORK

31

13

[ P.T.O.

Page - 31



TH A / ROUGH WORK

HME/2021-A 32

Page - 32



